(b) [Falie
100-4=96 =nd S X 96
()
3 43T =TT 1E P
A XY
ot 2 :@1/

2 =3
) J—
D(a) 351571 (9 5257 \k!
—_—\ — 3 :ﬁzz’
=5 3'-3226
: 20=3.2:26
2‘:§'Z:lzzt‘
2= 2:4=12=5
ZG: ggtﬁz"



(A) Hw 3 - %10
®) W S- =

L ———

@ S\lppuc X1+x_"-: 2 (N\OA ?) wWhere P \Can 0dd prime.
Theay \(X2+ x-2).
Ser 9\ (x+2)(x-1)

Sinte p 1¢ pAme We gel
Qa/ XE’Z(rNc)\ \ﬂ 0r

=

P\(M—z\ 0C P\(X“\)'
w =\ (rod \ﬂ,

wWhere \S)&z~\0x-\-:]tjzz\\, - o
Thea ta 2. We woulh havet \S'\‘(——loxﬁ':} =l

There 16 o 90 9 V8 Zs
Viy Wi davle

T\/\\JS, XWherte ace N
X, € L with
'S x"»\oﬁir:?\jz:\\.




